7 L—LE

@ Asada

IV ET S 25Pro

12 C Y04

>
VAN

HHTH 2024/2/19



1 C YN

@ Asada

N
RIL k<Y 25Pro JL—LER
Ref.No.| =3— KN e B i

1 BM042 BTM A4 K/\—F 1

2 BMO041 BTM #i4 K/A—R 1

3 80182 FNATUTRIL b M8x45L 2

4 81254 NAFUTARIL FEIERES M8 2

5 BMO043 BTM 7 L—L 1

6 BM044 BIMX hE—% X4 —JL 1

7 83352 IRA—HEE No2x4.8L 3

8 BE892 BESO ¥1#5m 1

9 BMO47A AUHEA 1 BMO047—BMO047A (%% 2016 £ #%% 803811~)

10 BMO047B AU EB 1 BM047—BM047B (5%% 2016 £ #%% 803811~)

11 19717 A ML—F 1 BM048—19717 (3%% 2016 4 1% 803811 ~)

12 18331 J4)L%—4 1

13 80162 AR B M6 X121 1

14 BE896 BESO R A /X1 T 1

15 85083 a3 GES8xPT1/4 1

16 85608 HYFINIE D12 1 85612—85608 (5%% 2020 4)

17 80369 ARATUTIEHR L M8 x 121 4

18 84249 F351/2 1

19 BMO51 BTMBA Ky & 1

20 80369 NANYTIEHR L M8 x 121 1

21 BM054 BIM/NNA XL 3—%R 1

22 BMO055 BTM /\f X< 3—R 2

23 80166 FNATUTARIL B M6 x20L 2

24 81251 ANATE AL FRIERES M6 2

o5 BMO056 BTIM/NNA XY 3a—%F 1

26 BM057 BTM/Af R¥3—F 2

27 BE506 BESO F¥ v RTYVHTA 2

o8 BE507 BESO Fxr v O RTYVI B 2

o9 BE508 BE50 F+ v 2RIl b 2

30 BE509 BESO Fr v o EY 2

31 BMO058 BTM /A4 XA L 1

32 BM059 BTM /34 X/ > KJL#R 1

33 83038 RATYLTEY d6x24L 1

34 BM062 BIMNIA X7 v X kRl b 1

35 81014 NEFYE M2 ZEAYE 1 81027—81014 (FX% 2015 & #E 602671 ~)

36 84119 ASARR71) 24 51101 2

37 81045 ANAEFY ~ M2 2

38 BMO61 BTM /A R A A K/A— 2

39 63914 i 4

40 80381 ANATUTEIEHII L M10x18L & 4

4 BMO053 BTM /84 X#8 (No.21~30)

HHTH 2024/2/19



@ Asada

13 C o4

AREhED

RIL kT 25Pro

WETH 2023/04/10



2 L)
RIL k> 25Pro

@ Asada
EXEhER

Ref.No.| = — KNo. L TEA B i
1 BM003 BTMAE" UM I 1
2 10708 BTMAE UM W750% £ Y 2
3 10103 BTM 4 4Ayb tybyyy” 1
4 BM004 BTM AL UM IF' ¥ 1
5 BMO031 BTM AE” b Wh3- 1
6 21207 3~ 6x6x20 HE 2
7 83343 C Bk ¥hEF S-45 1
8 84420 A" T7Yv5° 6009 2RS 2
9 81138 91-7" Ty¥% BWW6305 1
10 BM005 BTM At M IR % 1
11 70523 {773+ B5x10L 4
12 BM006 BTM &L" UM Wr=A&A4K 1 MyFERFTIAH Y (X% 2015 )
XEHE#RMEL L (BRE 2016 £)
13 BM007 BTM At° VM Wr-22 1 MyFERFIAH Y (BXZE 2015 )
14 87377 b 3445 2830 2
15 87378 b 3445 2820 2
16 BMO038 HAEhE =ty 1 BM008—BMO038 (E&% 2017 & #%& 800011~)
17 BM039 B 8RR ¥ 1 BM009—BMO039 (E&Z 2017 &£ #%% 800011~)
18 BMO010 BTM % &t =ty 1
19 BMO11 BTM % —§higiEs ¥ 1
20 BM012 BTM S —#ht" =4 1
21 BMO013 BTM 5 —Ehig &S ¥ 1
22 20209 ¥~ 5x5x13 Hh 3
23 84188 AN TYvh 630122 2
24 84116 N TYvh 62012Z 3
25 84114 A 7YY 600122 1
26 80167 FNATUTE W MEx25L 9
27 81251 RAFUSE W EIERES M6 9
. BMO014—BE317 (F%% 2015 &£ #% 602411~)
28 BE317 BE25 A{v¥7" -} 1 B B E S L
. . BM015—BMO032 (5%% 2015 &£ #&E 602411~)
29 BM032 BTM R49F7° L-hn" 94 1 S B E M L
87165—87167 (X% 2015 & #% 602411~)
30 87167 AyF SDT115A11U 1 S B E M5
. . . 82177—82295 (F8% 2015 £ #4% 602411~)
31 82295 TS5/ L MAx8L Bis 2 SCEF B |
. BM016—BMO033 (X% 2015 &£ #%& 602411~)
32 BM033 BTM x{yF1-} A 1 SCE B E A L
33 BM017 BTM z{yf1-+ B 1
34 70335 $v7° 17 OA-W1611 1
35 88899 AN M6xsL iR 1
36 81246 TS M6 1
37 19722 F1-7" A7) 3
38 82200 R L M6x10L 2
39 70605 7v49¥7" y¥1 NB-15 1
40 85412 £ Z-lf-2 ©17-P15(L=30mm) 1
BE42R—BE41R(F%X % 2016 £)
41 BE42R BE # ¥ »7° 18AR 1 BE41R—BE42R(E2 % 2017 %)
XEIBEMRMEA L
42 80165 FNATUTE Wb MEx18L 3
43 81251 NAEFUTE W EIE R ESE M6 3
85484 k-2 TB-8 1 85480—85484 (F%% 2016 £)
85412 £ =-hk-2 ®17-915(L=500mm) 1
85023—85019 (FXZ 2016 £&)
44 85023 TAARIVE PT1/4xPT1/4 1 85019—85023 (5%% 2017 &)

XEEE#ERZ L

WETH 2023/04/10




2 L)
RIL k> 25Pro

@ Asada
EXEhER

Ref. No. a— FNo. % B e
85082—85088 (%% 2016 %)
45 85082 IV WES8xPT1/4 1 85088—85082 (5&% 2017 4F)
MXEIBE#RMEA L
R 85612—85602 (5%% 2016 4F)
46 85608 | 7k 012 1 | 8560285608 (% 2020 %)
47 BMO77 BTM -4 100V-120V 1
70858 - URIFQ 7~ A1) 148
48 80167 FNATUTE W MEx25L 4
49 81251 NATFUTE W EIERES M6 4
50 82181 ERipa L M5x10L 1
51 81112 IFHEE M5 1
85482 AN AIVF1-7° TP-12 B 2
52 BMO049 BTM #5#t 1
53 80152 FNATUTE W MAx10L 1
54 81111 IFREE M4 1
55 BE917 BESO Fy4n" b IH 1
56 80404 FNATUTE W MEx22L 1
57 81066 Aty M6 1
58 BM021 BTM BARK?" 37yk 1
59 BM022 BTM Bk 1
60 BM023 BTM & (Vb Y 1
61 BM024 BTM BABUAR L A7 Yy 1
62 81042 Uyt M6 1
63 83026 27 Uvh By ©5x30L 1
64 80164 FNATUTE W MEx16L 2
65 81251 NEAFUTE W EIERES M6 2
66 EP352 EP275 7" 5-1/4 1 BM026—EP352 (E%%Z 2017 £ #%% 804001~)
67 BM088 W 47" 48 1 (BR% 2017 &£ #4% 804001 ~)
68 83319 CR FziE b CRTW-12 1 (BR% 2017 &£ #4% 804001 ~)
69 84001 ovy P-8 1 (%% 2017 &£ #£% 804001~)
70 83320 CS fz1L & CSTW-6 1 (%% 2017 &£ #£% 804001~)
71 84021 ovy P-6 2 (%% 2017 &£ #£% 804001 ~)
72 BMO085 SER/A 1 (%% 2017 &£ #£% 804001 ~)
73 BM037 BTM #{hn" - 1 BM030—BMO037 (§%% 2016 4 #%& 804001~)
74 88806 Evy" 75x50 1
75 82181 i L M5x10L 6
76 81112 I$HEE M5 6
77 81097 NAF M5 —F AvF 3 81003=81097 (F%% 2022 &)
78 BE321 BE25 EjE1-F 100V-120V (No.79 &¢)) 1 BM079—BE321 (5%% 2015 &)
X IBEHRMEL L
79 87137 BS #E#h7y 774 1
80 84170 R—=ILRTF ) > 620022 1
81 84423 R—=ILRTF ) > 630227 1
82 BE926 BESO E#F 100/120V (No.80. 81 &1) 1
#A BMO072 BTM H A18h#E (No.16,17,22,23) 1set
#A BM073 BTM % —#h#A(No.18,19,22,24) 1set
#A BM074 BTM & — &##H (No.20~22,24,25) 1set
#A BM020 BTM BAR7" 3y MH (No.58~63) 1set
1set | BM025—BM027 (5%%Z 2016 4)
#A BM084 BTM jEn 17 #1(Ne67~Ne72) BM027—BM084 (5%% 2017 &£ #:% 804001~)
XEFIEEBRMEL L
8 BMO36 | BTMA{bn" ~#(Ne73~77) fset | BMO29—BMO36 (523 2016 & ## 804001~)

XHFEE#BERZ L

WETH 2023/04/10




